Pressure reduction relative to the stable pressure in the brake pipe with the

Time of reduction of the compressed air pressure in the air brake cylinder

7| controller in position Il and IV, MPa (kgf/c?). max. 0.015(0.150) 33 | from 0.35 to 0.05 MPa (3.5 to 0.5 kgf/em?) should not exceed, s w
Stable pressure change in the brake valve reservoir after the step of 34 |During the step of braking lasting for 2 minutes the change in the air brake 0.01(0.10)
8 | braking for not more than 3 minutes with the controller in position IV, MPa 0.01(0.10) cylinder pressure should not exceed MPa (kgf/cm?) o
(kgf/cm?), max.
AUTOMATIC SECTION SEPARATION TEST
9 |Lack of pressure build-up in the brake pipe with the controller in position [l available . Air brake cylinder should be filled up when the pressure in the brake pipe is, AT
10 |Overpressure in the brake pipe after the discharge of the brake valve 0.03(030) MPa (kgf/cm?) e
i 2 7 g g
reservoir by 0.15 MPa (1.50 kg/em?) for 40 s, MPa (kgf/em?), mex. 36 |Pressure in the air brake cylinder should be, MPa (kgf/cm?) 0.38-0.40 (3.8-4.0)
1" Time of pressure reduction in the brake valve reservoir from 0.5 to 0.45 MPa 15220 _ _ S -
(5.0 to 4.5 kgf/cm?) with the controller in position Va, s For 37 Air brake cylinder filling time from 0 to 0.35 MPa (0 to 3.5 kgf/cm?) should 6
12 When the pressure in the brake valve reservair declines by 0.01540,020 MPa 0.015+0.020 not exceed, s
(0.1540.20 kgf/cm?) there must occur a discharge in the brake pipe MPa (kgf/cm?)|  (0.15+0.20) SUBSTITUTION OF ELECTRODYNAMIC BRAKES BY AIR BRAKES
Time of pressure reduction in the brake pipe from 0.50 to 0.15 MPa (5.0 to : : :
13 2 \yi ; i 3 Pressure in the air brake cylinder should not exceed, MPa (kgf/cm?)
bt i e e o e o ) 38 |Pressure change in the air brake cylinder for 60 seconds should be, MPa 0.40 (4.0)
Driver's brake valve backup control (kgf/cm?) £001(£0.1)
. _ . 39 Air brake cylinder filling time from 0 to 0.35 MPa (0 to 3.5 kgf/cm?) should 3
14 Time of charging the brake valve reservoir from 0 to 0.40 MPa (0 to 4.0 kgf/ 20-30 not exceed, s
cm?) with the handle in the "release” position i 40 |Time of pressure reduction in the air brake cylinder from 0.35 to 0.05 MPa 5
15 Time of pressure reduction in the brake pipe from 0.5 to 0.4 MPa (5.0 to 4.0 445 (3.5 to 0.5 kgf/cm?) should not exceed, s
kgf/cm?) with the handle in the "brake" position, s .
16 Pressure change n the brake valve reservoir after the step of braking 0.05 0.01(0.10) AUTOMATIC PARK BRAKE TEST
MPa (0.50 kg/c), MPa tkgf/om)___ — 41 |Pressure i the park brake cylinder should be, MPa (kgf/cm? 060:001 (6.0:0.1)
17 Time of pressure reduction in the brake pipe from 0.50 to 0.25 MPa (5.0 to 3 ' ~ ‘
2.5 kgf/cm?), emergency brake valve, s, max. ) If the park brake control group is operated remotely, the park brake cylinder %
i ) i filling time from 0 to 0.57 MPa (0 to 5.7 kgf/cm?) should not exceed, s
Diagnostics, parameters recording If the park brake control group is operated remotely, the time of pressure
) - ) 43 |reduction in the park brake cylinder from 0.57 to 0.04 MPa (5.7 to 0.4 kgf/ 38
18 |Display console availability available cm?) should not exceed, s
If the park brake control group is operated manually, the park brake cylinder
19 | Gateway availabilty available %4 Ifiling ime from 0 to 0.57 MPa (0 to 5.7 kgf/cr?) should not exceed, s w
If the park brake control group is operated manually, the time of pressure
20 |Recorder availability available 45 redzl;ctri]on Ii[T the park bdrake cylinder from 0.57 to 0.04 MPa (5.7 to 0.4 kgf/ 38
cm?) should not exceed, s
21" | lectronic feducer avaiabiy avallabe 46 |1ma o s retution e sk rake eyt fom 057 00A NP, | 38
vi
AUTOMATIC AIR BRAKING TEST (5.7 to 0.4 kgf/cm?) should not exceed, s
47 |Changeover valve availability available
Full load, plain terrain
When the brake pipe is discharged by 0.05-0.06 MPa against the normal . TRAI_N BR_AKE_PI?E '_:AILURE DETECTIO'_\I “_EST'
working pressure during 2 minutes, the pressure in the air brake cylinder Activation of the brake pipe failure indication when the brake pipe is
22 |should not exceed, MPa 0.06 48 |discharged by 0.02-0.03 MPa (0.2-0.3 kgf/cm?) against the normal working available
When the pressure in the brake pipe increases to the normal working pressure level
pressure level, then there should be a full release De-activation of the brake pipe failure indication when the brake pipe is
When the brake pipe is discharged to 0.35 MPa against the normal working 48 |discharged by more than 0.03 MPa (0.3-0.3 kgf/cm?) against the normal available
23 |pressure level, the pressure in the air brake cylinder should be, MPa 0.4-0.45 working pressure level
When the pressure in the brake pipe increases to the normal working 50 |Zer0 brake pine failure indicati hen the brake pine is charaed ilabl
pressure level, then there should be a il eltee ero brake pipe failure indication when the brake pipe is chargei available
Moderate load, plain terrain 51 gieprg il;rglﬁ?n;i]rigggilure indication when the overcharge pressure in the brake avellihiE
When the brake pipe is discharged to 0.35 MPa against the normal working
o4 |pressure level, the pressure in the air brake cylinder should be, MPa 0.3-0.34 COLD RESERVE TEST
When the pressure in the brake pipe increases to the normal working ) i
pressure level, then there should be a full release Full load, plain terrain
g OBl WG resars el he s I the o baks s shold
When the brake pipe is discharged to 0.35 MPa against the normal working 52 |be, MPa (kgf/cm?) - : 0.40-0.45 (4.0-4.5)
o5, | pressure level, the pressure in the air brake cylinder should be, MPa 0.14-0.18 When the pressure in the brake pipe increases to the normal working
When the pressure in the brake pipe increases to the normal working pressure level, then there should be a full release
pressure level, then there should be a full release When the brake pipe is discharged to 0.35 MPa (3.5 kgf/cm?) against the
REMOTE RELEASE OF LOCOMOTIVE BRAKES TEST normal working pressure level, the pressure in the air brake cylinder should
(FULL LOAD, PLAIN TERRAIN) 53 |be, MPa (kgf/om?) - _ 03-0.34(3.0-34)
When the brake pipe is discharged to 0.35 MPa against the normal working When thel prelsswe |nhthe b{]akei pipe increases to the normal working ull el
26 | pressure level, then the time of pressure reduction in the air brake cylinder to 3 pressure level, then there should be a — ullrelease
0.04 MPa (0.4 kgf/cm?) should not exceed, s When the brake pipe is discharged to 0.35 MPa (3.5 kgf/cm?) against the
normal working pressure level, the pressure in the air brake cylinder should
SECONDARY BRAKE VALVE TEST 54 | be, MPa (kgf/cm?) 0.14-0.18(1.4-1.8)
= = = - When the pressure in the brake pipe increases to the normal working
The pressure value in the air brake cylinder in the secondary brake valve pressure level, then there should be a llirelease
positions should be, MPa (kgf/cm?): 0 ‘
27 |- the second brake position 0.10-0.13(1.0-1.3) DIAGNOSTICS TEST
- the third brake position 0.17-020(1.7-2.0) — - - - -
- the fourth brake position 0.38-0.40 (3.8-4.0) 55 tTratrp]smlstmon lofcglﬁgno_stllcl_dita from the bogie brake adaptive control group il
The air brake cylinder filling time from 0 to 0.35 MPa (0 to 3.5 kgf/cm?) SUALE e ] &AW SLATEE LT — -
28 Shouldnotexceedhs 3 56 Transmission of diagnostic data from the driver's brake valve to the internal ilabl
. i - : CAN serial link avariable
Time of pressure reduction in the air brake cylinder from 0.35 to 0.05 MPa T 7 : == : :
29 ) 10 Transmission of diagnostic data on the position of handles of disconnecting !
(35t005 kg.f/cm )shpqld mot excegd, S - - 57 (stop) valves and pressure sensors to the internal CAN serial link available
30 When there is an artificial leak lasting for 60 seconds, the air brake cylinder 0.015(0.150) . - ) - )
pressure reduction should not exceed MPa (kgf/cm?) : ; 58 | Transmission of diagnostic data to the external CAN serial link available

Secondary brake valve backup control

Sl

Pressure in the air brake cylinder should be, MPa (kgf/cm?)

0.38-0.40 (3.8-4.0)

LEAKPROOFNESS TEST

32

Air brake cylinder filling time from 0 to 0.35 MPa (3.5 kgf/cm?) should not
exceed, s

3

59 |Tightness of joints between assembly units and parts.

air leaks are not
allowed

* - Values should be specified in the test
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RUSSIAN
BRAKE SYSTEMS

Poccuiickne TopmoO3Hblie CUCTEMBI

BRAKE
EQUIPMENT
315 MODULE

Mogaynb TOPMO3HOro
ob6opynoBaHUA



Mogynb Topmo3Horo o6opygoBanua E.315 npegHa3snayen gna
peanu3sayuu:

ynpaBneHuA AaBNeHNEM BO3/yxa B TOPMO3HOIA MarucTpany;

aBTOMaTN4eCcKOro MHEBMATMYECKOro TOPMOXEHWA I0KOMOTUBA U NOE3Aa;

MOTENEXEYHOro NHEBMATMYECKOr0 BCNOMOraTeNbHOM0 TOpMOo3a JI0KOMOTYBa;

aBTOMaTN4eckoro CTOAHOYHOTO TOPMO3a JIOKOMOTHBA;

PE3EPBHOI0 YNpaBNEHUA aBTOMATMYECKMM MHEBMATUYECKM TOPMO30M U
BCMOMOraTe/lbHbIM TOPMO30M IOKOMOTBA;

(OYHKLIM «camopacLien CexLnity;

hyHKLMM CHrHanuaaLmn 06pbiBa TOPMO3HOM MarmcTpani noesaa;

JIVICTAHLIMOHHOI 0 OTMyCKa aBTOMATWUYeCKoro MHEBMaTUYECKOr0 TOpMO3a
JIOKOMOTVIBa NPy NPUBEAEHHbIX B AEICTBIE aBTOMATUYECKMX TOPMO3aX N0e3aa;

MOTENeXeyHoro B3anMo/eicTBIA 3NeKTPOANHAMUYECKOr0 TOPMO3a (aanee
- 3/IT) nokomoTuBa ¢ nHeBMaTieckium (ganee - MT)SAT, SATHIT, MT);

nepeaaqn AnarHocTMYECKON MHAOPMaLIM B CUCTEMY YrpaBNeHmA
NIOKOMOTIBA N0 nocneAoBatenbHoMy kaHany CAN o 3HaueHuAX aaBnexuA
BO3/lyXa B MHEBMATU4ECKMX KOHTYpaX, MOMOXEHUAX Py4eK KOHTPONNIEPOB KpaHa
MalLLIMHICTa 11 KpaHa BCMOMOraTesbHOro TopMo3a, pasobLLMTENbHbIX KPaHOB, a
TakXe LIENOCTHOCTY 3NEKTPUYECKIX LIENEN 3NEKTPOMHEBMATIYECKIX BEHTUNEN;

JVarHoCTUPOBaHUA JABNEHNA B MHEBMATUYECKIX KOHTYPaX, MoCPeACTBOM
MHEBMATUYECKIX KOHTPOMBHBIX TOYEK.

OcHoBHble TexHu4yeckue napameTpbl MTO npuBeeHbl B Tabnuue.
3HayeHnd, NpuBeieHHbIe B TabnuLe, COOTBETCTBYIOT YCIOBUAM CTEH/0BbIX
VCMbITAHWN.

Bpewma cHxenua gasnenna 8 TM ¢ 0,50 o 0,15 MMMa (¢ 5,0 o 1,5 kre/cwm?) B

OtkntoyeHue nHankaumum «06psi TM» npu paspaake TM ot 3apAaHoro Gonee

13 VI nonoxeHun koHTpONNepa, ¢, He Gonee E
Pesep ynp (i MalHHKCTa
14 Bpewma 3apazku YP ¢ 0 no 0,40 MMa (c 0 o 4,0 krc/cm?) B nonoxeHum 20230
pykoATkn «OTNyCK», ¢ -
15 Bpema cHikernA aasnexna B TM B nonoxeHun pykoATkn «Topmo3a» ¢ 0,5 Ao 4-5
0,4 MMa (c 5,0 no 4,0 kre/cm?), ¢ -
16 Benuunta n3mexenua aasneqna B YP nocne crynexn topmoxetna 0,05 MIa 0,010,10)
(0,50 krc/cm?), MMa (kre/cm?) A
17 Bpewma cHxenmna gasneqna 8 TM ¢ 0,50 fo 0,25 MMMa (c 5,0 o 2,5 kre/cm?) 3
KA3T, ¢, He 6onee
ﬂuaruocﬂlxa, BBOJ U 3anuch NnapameTpoB
18 | Pa6otacnoco6HOCTb 610K MHANKALWMY BBOAA AaHHbIX 1Meerca
19 | Pa6otocnoco6HOCTb Lunto3a 1meeTcA
20 |Pa6oTocnoco6HoCTb pericTparopa 1Meerca
21 |Pa6oTocnoco6HOCTb 3M1EKTPOHHOMO peaykTopa 1MeeTcA
NMPOBEPKA ABTOMATUYECKOr0 MHEBMATUYECKOI0 TOPMO)KEHUA
T'py>KeHblii paBHUHHbIA PpeXKUHM
[asnenve B TL npu paspaake TM ot 3apaaHoro Ha 0,05-0,06 MITa B TeueHve
22 |2 MuH lonxHo 6bITh, MITa, He MeHee 0,06
Mpy noBbILeHUM gaBnenuA B TM [0 3apAAHOMO J0MXEH BbiTb MOJHbIA OTNYCK
23 [asnetve B TL| npyu paspaake TM ot 3apaaHoro Ao 0,35 Ma AomxHo 6bims, Mna 0,4-0,45
Mpy noBbILeHn gaBnenua B TM [0 3apAAHOMO A0MXEH GbiTb MONHBIA OTNYCK
CpefHuii paBHUHHBIA PeXUM
28 [asnenve B TL| npu paspazke TM or 3apaaHoro Ao 0,35 MIMa aomkHo 6bitb, Ma 0,3-0,34
Mpy nosbILeHnm gaBnenrA B TM 0 3apAAHOMO A0MXeH GbiTb MONHbIA OTAYCK
[MoposHuit paBHUHHbIN pexum
25 [asnenve B TL npu paspazke TM or 3apaaHoro Ao 0,35 MIMa aomkHo Gbite, Ma 0,14-0,18

Mpy noBbILeHnM gaBnenuA B TM [0 3apAAHOMO J0MXEH BbiTb

MOMHbIA OTNYCK

NMPOBEPKA ®YHKLUM «CAMOPACLIEN CEKL{MI» 49 0,03 Mna (0.3 krc/cw) nmeeTcA
35 |Hanontetne TL gomkHo Gbitb npu gasnequn 8 TM, MMa (krc/cm2) 0,20-0,25 (2,0-2,5) 50 | OteyTereue nHavkauwum «06psiB TM» npn 3apaake TM MMeeTcA
36 | [lasnerwme B TL fomxHo Gbimb, MMa (krc/ov?) 0,38-0,40 (3,8-4,0) 51 | OTeyTeTBue uHavkaum «0Gpsis TM» npu nvkenzaLm cBEpX3apAAHOTO T
nasnenua B TM
37 Bpema Hanonxenua TL ot 0 go 0,35 Ma (ot 0 o 3,5 kre/cM?) AonXHO GbiTb 6 -
He 6onee, ¢ MPOBEPKA ®YHKLIUK «XOJ1I0IHbIN PE3EPB»
NPOBEPKA 3AMELLEHWUA INNEKTPOAUHAMMWYECKOr0 TOPMO3A MHEBMATUYECKUM [ py>eHblii paBHUHHBI peXXHM
[asnenve B TL| gomxHo 6bitb, MIa (krc/cm?), He Gonee 2
38 | ViameHeHue ycTaHoBuBLLErocA AaBneHna B TL| B Teuernn 60 ¢ 40MXHO BbiTb, 0,40 (4,0) 52 ﬂgﬁ;ﬁzmgbﬁlu,\;ﬁg ng%ﬂf)e TM ot 3apAgraro 4o 0,35 Mta (3,50 krc/ch?), 0,40-0,45 (4,0-4.5)
Ma (krc/cm?) +0,01(x0,1) ' s o
Mpv nosbiLeHnn aaBnenusa B TM 0 3apAJHOrQ AOMIXEH ObiTb MONHbIiA OTMyCK
39 Bpewma HanonHexua TL ot 0 go gasnenua 0,35MMa (ot 0 go 3,5 kre/em?) 3
[JIONXHO BbiTb, C, He Gonee CpepHuii paBHUHHBIA peXxum
) Bpema cHinxenna gasnenua B TL ot 0,35 go 0,05 Ma (ot 3,5 g0 0,5 kre/cm?) 5 [asnenve B TL| npu paspaake TM ot 3apagHoro go 0,35 MMMa (3,50 kre/cm?),
[I0NXHO 6bITb, C, HE Gonee 53 | jomKHo Gbit, MIa (kre/cv?) 0,3-0,34(3,0-3,4)
Mpy noBbiLeHnn aaBnenusa B TM 10 3apAJHOrQ AOMIXEH ObiTh MOfHIiA OTMYCK
NPOBEPKA ABTOMATUYECKOI0 CTOAHOYHOI0 TOPMO3A* o =
Mopo)xHuit paBHUHHBIA peXxum
M [lanetve B LMHApe CToAHO4HOTO Topmo3a (LICT) AomxHo GbiTb, 0,60+0,01 (6,0:0,1 [asnenve B TL, npu paspaake TM ot 3apaaHoro ao 0,35MMMa (3,50 kre/cm?),
Ma (krc/cm?) = ) 54 | nonmxHo Gbitb, MMa (krc/cv?) 0,14-0,18(1.4-1.8)
Bpewr Hanontena LICT NpH ZVCTaHLMOHHOM yTpaBrer N GoKoM yrpasne- Mpv no.bileHnn aasnerna B TM 10 3apAHOrO AOIXEH ObiTh MOJHIiA OTMYCK
42 |HuA cToAHoYHbIM TopMo3oM (BYCT) ot 0 ao 0,57 MMa (ot 0 #o 5,7 kre/cm?) 26
JLIONXHO ObiTh, C, He Gonee NPOBEPKA JUATHOCTUKU
83 Bpewma cHixerua gasneqna B LICT npu auctaHumoHHom ynpasnen BYCT ot 3 ~
0,57 10 0,04 MMa (o7 5,7 10 0,4 Krc/cM?) AOMKHO GbiTh, ¢, He Ganee 55 lepesaya AMarHocTU4ECKO MHAhopMaLWM OT G710Kka afaNTUBHOrO YNpaB/IeHuA y—
TOPMO30M TENEXKN BO BHYTPEHHWI nocnejoBaTeNbHbli kaHan CAN
44 Bpewma HanonHenua LICT npu pysHom ynpasnerun bYCT ot 0 go 0,57 MMMa (ot % _
0 0 5,7 Krc/cM?) BOMXHO BbiTh, C, He Gonee Mepepaya AvarHocTu4eckoi MHAopMaLWMK 0T KpaHa MaLLIMHICTa BO BHYTPEH-
56 vuii CAN nmeerca
Bpewma cHixeHua gasnequa B LICT npu pydHom ynpasnenun BYCT ot 0,57 fo =
45 38 [Nepesaya AnarHocTHECKO MHDOPMALIMK MONOKEHUA PyYeK pasobLLUTeNb-
0,04 MrTa (or 5.7 a0 0,4 Krc/c) RonkHo GbiTb, ¢, He Gonee 57 |HblX KPaHOB ¥ JaT4MKOB JABNEHIA OT a[JanTepoB BO BHYTPEHHWI NoCne0Ba- nmeeTcA
TeNbHbIA kaHan CAN
4 Bpewma cHixeruna fasnequa 8 LICT npu py4Hom pesepsHom ynpasneHn BKCT 38 - - -
ot 0,57 o 0,04 Mfa (ot 5,7 o 0,4 kre/cM?) JOMXHO BbiTh, C, He Gonee 58 lepenaya AvarHocT4eckol MHAOPMaLWUY B BHELLHWI NOCNEJ0BATENbHbIi e —
kanan CAN
47 |PaboTocnoco6HocTb knanaHa nepekntoyatensHoro MK1 1meeTcA
NPOBEPKA TEPMETUMHOCTH
MPOBEPKA CUrHAJIU3ALMN O6PbIBA TOPMO3HOM MATUCTPAJIH MOE3JA
59 |[epMeTUYHOCTL MECT COeIMHEHII COOPOYHBIX e AVHAL U IETaneii. ”Hzog‘é%';g?;&yc’;a
48 Bxntouenne nhankaumn «06peis TM» npu paspagke TM ot 3apaaHoro Ha (G
0,02-0,03 Mna (0,2-0,3 krc/cm?) * - 3Ha'eHVA YTOUHAIOTCA B MPOLIECCE MCTbITaHNI

Tabnuya
No |HaumeHoBaHue nokasatens 3HaveHne
NPOBEPKA KPAHA MALLMHUCTA
I'Iposepl(a BbIKNlo4aTena ueneﬁ ynpaBneHua

1 Bkntoyenne ycTpoiicTBa 6nokMpoBKY TOPMO30B, NPY YCTAHOBNEHHOM Kilto4e R
BLLY B | nonoxexun

2 OTK/H04EHIE YCTPOMCTBA GNOKMPOBKI TOPMO30B, NPY YCTAHOBNEHHOM KITHOYe Ve
BLIY Bo Il nonoxeHum

3 |BoamoxHocTb nepemelLieHna kntoya BLY u3 Il nonoxenma B 11 1MeercA

PABHWHHOM PEXXMME

NPOBEPKA JMCTAHLIUOHHOTO OTIMYCKA TOPMO30B JIOKOMOTHBA NPU IrPY)KEHOM

Bpewma cHikerna gasnequa 8 TU o 0,04 MMa (0,4 kre/cm?) nocne paspazaki

26 3
YnpaBnexue ceMMNO3NLHOHHBIM KOHTPONNEPOM KpaHa MaluMHUCTa TM or sapaatoro 40 0,35 MMa (3,5 krc/cw) omkHo GbiTb, ¢, He Gonee
Bpewma 3apaaku ¢ 0 2o 0,4 MMa (c 0 go 4,0 kre/cm?), Bo I nonoxeHum NPOBEPKA BCMOMOTATEJIbHOr0 TOPMO3A
4 |KOHTpOANEpa:
YP, ¢ 20+30 Nasnenve B TL Ha noanumax KKBT gomxHo 6biTb, MMa (kre/cv?): 0
- TM, ¢, He Gonee 4 - epBaA TOPMo3HaA No3uLnA 0,10-0,13(1,0-13)
5 Bpewma cHixerua gasneqna 8 TM ¢ 0,5 ao 0,4 MMa (c 5,0 oo 4,0 krc/cm?) B V 4:5 27 |- BTOpaA TOPMO3HAA NOSULINA O’,17-0’2[] (1,'7-2,1[])
MIONOXEHM KOHTPONNEPA, C - ::E?;ZET;(’HDQ"UO;JSSHZ?I?EL?SHMH 0,38-0,40 (3,8-4,0)
6 Jlukenaauna cepxaapaaHoro aasnexna B TM ¢ 0,60 ao 0,58 Ma (c 6,0 no 80120 2% Bpema HanonHenuA TL ot 0 o nasnetma 0,35 MMa (ot 0 go 3,5 kre/cw?) 3
5,8 kre/em?), ¢ . JI0MXHO BbITh, C, HE 6onee
7 CHuxeHve faBnenua B TM oTHocTeNbHO ycTaHoBuBLUerocA Bo Il 1 IV nono- 0,015(0,150) 29 Bpewma cHuxerna aasnenua 8 TL ot 0,35 1o 0,05 MMa (o7 3,5 Ao 0,5 krc/cm?) 10
XeHnAx koHTponnepa, Ma (krc/cm?), He Gonee ! ! LIOMKHO BbITh, C, He Gonee
/3meHenmA ycTaHoBuBLLErocA faBnenua B YP B IV nonoxexuu koHTponnepa C T o
8 |nocne cTyneHi TopMoXeHIA 3a BpemA He Gonee 3 MuH., Ma (krc/cm?) , He 0,01(0,10) 30 BSM)KGHME A%BHGHT\;FT ' n’/m czl;ana%vm VICKYCCTBEHHOW YTE4KI B TEEHAN 0,015(0,150)
Gonee c JomkHO GbiTb, MIMa (krc/cm?), He Gonee
9 |OTcyTcTBue BoccTaHoBNeHMA Aanerna B TM B 11l nonoxeHwun koHTponnepa nmeetcA Pe3epBHoe ynpaBnexne KpaHoM BCOMOraTe/lbHOro TOpMo3a
3a.bileHne aasnerna B TM nocne paspazky YP Ha 0,15 MMa (1,50 kre/cm?) P Y )
105 apev 40 6, MTTa (kr/om2), He Bones 0,03(0,30) 31 | llasnerue B TL| somxHo 6biTb, MMa (kre/cm?) 0,38-0,40 (3,8-4,0)
Bpema cHxerna gasnenua B YP ¢ 0,5 4o 0,45 MMa (c 5,0 Ao 4,5 kre/cm?) B . 2
1 Va NIOnOXeHIM KOHTPOTTEa, ¢ 15+20 32 |Bpema HanonHewua TL ot 0 o 0,35 Ma (3,5 kre/cm?) AomkHo 6biTh, ¢, He Gonee 3
12 Mpyn cHwxerun nasnetma B YP Ha 0,01540,020 Ma (0,1540,20 kre/cm?) 0,015+0,020 3 Bpem#A cHiKeHWA AaBneHnA cxatoro Bosayxa B pesepsyape o1 0,35 1o 10
[JoMmKHa npou3oiiTn paspAaaka TM Ha MMa (krc/cm2) (0,15+0,20) 0,05MTa (o7 3,5 A0 0,5 Kre/cm?) JOmKHO 6biTk, €, He Gonee
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E.315 brake equipment module is responsible for:

brake pipe pressure control;

automatic air braking of locomatives and trains;

secondary air braking of each bogie of a locomotive;

automatic park braking of a locomative;

stand-by control of air brakes and secondary air brakes of a locomotive;

automatic section separation;

warning about the failure of the train brake pipe;

remote release of automatic air brakes of a locomotive when automatic
brakes are activated;

interaction of electrodynamic brakes (EDB) and air brakes (AB) in each
bogie of a locomotive (EDB, EDB+AB, AB);

transmission of the diagnostic data to the locomotive control system
through CAN serial link. The transmitted data may contain values of air
pressure in pneumatic circuits, specify the position of handles of the driver's
brake valve controller, secondary brake valve and disconnecting (stop) valves,
as well as be indicative of the integrity of electrical circuits in electropneu-
matic valves;

checking pressure in pneumatic circuits by means of pneumatic control
paints.

Main technical parameters of the module are shown in Table.

Values that are given in the table correspond to the bench testing conditions.

Table
No. | Indicator Value
DRIVER'S BRAKE VALVE TEST
Control switch test
1 |Turning on the brake locking device with the control switch key in position | available
2 |Turning off the brake locking device with the control switch key in position Il available
3 |Control switch key can be moved from position Il to position Il available
Operating the driver's brake valve 7-position controller
Time of charging from 0 to 0.4 MPa (0 to 4.0 kgf/cm?) with the controller in
4 position Il
- Brake valve reservoir, s 20+30
- Brake pipe, s, max. 4
5 Time of pressure reduction in the brake pipe from 0.5 to 0.4 MPa (5.0 to 4.0 425
kgf/cm?) with the controller in position V, s -
6 Elimination of the overcharge pressure in the brake pipe from 0.60 to 0.58 80-120

MPa (6.0 to 5.8 kgf/cm?), s
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